m,:=9.1093837015-10"' kg

Ney=8.47-10 m™

ny:=18.07-10*° m™

2 3
€r cui= ;’m (3.7 +ng,) =(1.127.107%) J
2
h2 2 s —18
Erar=y — (3-7% eny) =(1.867-107") J
€
2 2 2
Apene—"F" _(5.211.107) _F9-m"_
- 2¢€.° € oy s AK?
2 2 2
Ap pi=— P (3.144-107) LmQ
- 2'ec'5F_Al 83 AK

2

6 1
Oécu:: 16.5-10 E

0,:=23.1.-10° K

z2:=0.5
T2 = 25 °C

Ty (T,) =

T,:=25 °C,26 °C..1000 °C

ATy AT (T,) =T, =T,

ASC, (T1) =Ap cu* Tar (T1) « (1= 62+ agy,* Ty (T7))

ASCy (T1) =Ap ar>Tar (T1) + (1= 6200y Ty (T1))

1.533.10°°
1.536-10°°
1.538.107°
1.541.10°°
1.543-10°°
1.546-10°°
1.548.107°

1 ER1.1n"0

[1.531-107¢]

kg-m

s’ A.K

ASCAl <T1> =

[9.181-1077]

9.196-107"
9.211-107"
9.226-107"
9.241-107"
9.256-107"
9.271-107"
9.286-107"

aant.in~’

kg-m

s’ AK



L. L T LU J.JU L T LU

1.553.107° 9.316-107"

1.556. 10 V[=1000  :=25,26..N 9.331.10~"
1.558-10° 9.346-1077
Urg (Ty) = (ASC,, (Ty) +ASC 4, (T})) - AT (T})
[0
0.002
0.005
0.007
0.01
0.012
Urg (T1) = 0.015 | mV
0.017
0.02
0.022
0.025
0.027
Xi,U =L Xl 1:UTH
a:=WRITEFILE (“Berechnung_U_TH.txt” ,)
Uy (100 °C)=0.206 mV
excel =
4 c “Tabelle1!A1:A1000”
6.6 8
©
6 2
5.4 =
4.8
4.2 H
3.6 25
3 Ury <T1> (mV) 26
2.4 27
L8 28
1.2 29
0.6 30
(‘l Il‘)l) 21‘)0 iil‘)l) ll‘)l) v-)l‘)U (il‘)l) Tl‘)l) Sl‘)l) f)l‘)l) I~il]“ " c
(]
AT(T) (K) i
>
<

ASCe, (T)) (K) ASC 4 (T) r—,

I e



\ny

»
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